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standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.
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Part 1 — General marking guidance for GCSE MFL Writing Tests
Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’'s mark on the example.

You may well need to go back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Marks will be allocated in the following way at Higher Tier:

Content | Quality of | Range of | Accuracy | Conveying | Application of | Total
Language | language key grammatical
messages | knowledge of
language and

structures
Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 6 12
Total 25 6 12 5 6 6 60

Higher Question 1/ Foundation Question 4
10 marks for Content + 6 marks for Quality of Language (16 marks in total).

Candidates write approximately 90 words in total about four different bullet points. All bullet points must
be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an

appropriate mark within a mark range.

The question is marked for Content and for Quality of language, according to the following criteria

(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2):

Content

Marks | Response

A very good response covering all aspects of the task. Communication is clear and a lot

9-10 of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is mostly clear but
7-8 perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.

A reasonable response covering almost all aspects of the task. Communication is
5-6 generally clear but there are likely to be lapses. Some information is conveyed. An
opinion is expressed.

A basic response covering some aspects of the task. Communication is sometimes clear
3-4 but there are instances where messages break down. Little information is conveyed. An
opinion is expressed.

A limited response covering some aspects of the task. Communication is often not clear
1-2 and there may be frequent instances where messages break down. Very little
information is conveyed. There may be no opinions expressed.

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant in the broadest sense must be ignored when awarding the mark for Content.
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A minimum number of bullet points must be covered for the award of marks for Content, as follows:

7-10 marks: 4 bullet points
5-6 marks: 3 bullet points
3-4 marks: 2 bullet points
1-2 marks: 1 bullet point

The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a mark lower than the 9 or 10 band is more
appropriate. The more lapses in clarity that there are, the lower the mark is likely to be. All of the
information that a candidate attempts to give in relation to a particular bullet point may be unintelligible,
in which case that bullet point will not have been covered, meaning that the maximum mark will be 6.

You must accept any information which is a plausible response to the bullet point, even if it does not
explicitly mention, for instance, a time or place. For example, if the bullet asks what the candidate did
last weekend, and he/she writes ‘| went to see my grandparents and then went to a theme park’, this can
feasibly be an account of what happened last weekend, even though ‘last weekend’ is not mentioned.
Equally, if the student is asked to say what he/she does on a typical visit to a shopping centre and they
write ‘I bought some clothes and went to see a film’, this is also an acceptable fulfiiment of the task, even
though ‘shopping centre’ is not mentioned.

The bands refer to the amount of information that is conveyed, as follows:

9-10: alot

7-8: quite a lot
5-6: some

3-4: little

1-2:  very little

All of these have to be considered with reference to the suggested number of words, which is
approximately 90. In other words, a candidate who writes approximately 90 words, clearly
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the other
criteria are met. Conversely, a candidate may write much more than 90 words, but the language is so
inaccurate that little or very little information is conveyed successfully and the mark will be much lower.
If a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not be conveyed.

The candidate must give opinions in order to have access to certain marks, as follows:

7-10: two opinions
3-6:  one opinion

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 2. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion. A
neutral or descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think
that'. For example: ‘I think that my town is big’.
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Quality of language

Marks

Response

5-6

A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful.
Errors are mainly minor. Some more serious errors may occur, particularly in complex
structures and sentences, but the intended meaning is nearly always clear. The style
and register are appropriate.

3-4

Some variety of appropriate vocabulary is used. There may be some attempt at
complex structures and sentences. There are references to at least two different time
frames, although these may not always be successful. There may be some major
errors, and more frequent minor errors, but overall the response is more accurate than
inaccurate and the intended meaning is usually clear. The style and register may not
always be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of
the task. Sentences are mainly short and simple or may not be properly constructed.
There may be frequent major and minor errors. Little or no awareness of style and
register.

The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of Language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Quality of language. A mark of O for Content automatically results in a mark of O
for Quality of Language but, apart from that, the Content mark does not limit the mark for Quality of
language. However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality
of language.

Each band has five strands: variety of vocabulary; complexity of structures and sentences;
reference to time frames; accuracy of the language; style and register. Sometimes it will be
necessary to adopt a ‘best fit’ approach, because the five strands will not be consistently
demonstrated. Whether it is the top or bottom mark in the band will depend on whether the
criteria are nearer to those of the band above or below.

In order to score in the 5-6 band, there must be reference to all three time frames (past, present
and future). For the 3-4 band, there must be reference to at least two time frames. Reference to
a particular time frame may be demonstrated with one example. The verb used to refer to a
particular time frame need not be totally correct, provided the message is clear. These marks are
not awarded automatically and the other criteria in the band are equally important. Notice that
references are to time frames, not tenses. So, for example, the present tense usage in the
following sentence is a reference to a future time frame: ‘I'm going to the concert next week'’.

When considering the complexity of the language, you should bear in mind that a) this is the
overlap question and is attempted by both Foundation and Higher candidates; b) that the criteria
for Quality of language in this question are not as demanding as the language criteria for Higher
Question 2. However, for a mark of 5 or 6, complex structures and sentences are attempted.
They may not always be successful and this may lead to serious errors because of the
complexity of the structure or sentence which the candidate attempts. Complexity may be shown
in some of the following ways: different tenses; intensifiers; time markers; connectives;
subordinate clauses; infinitive constructions. This should not be seen as a ‘tick list’, but rather as
an indication of the definition of complexity at GCSE level.
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e The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there
is no need to penalise the candidate merely for that. It may, however, be a contributory factor in
the award of the overall mark if there are other weaknesses. There is no requirement for
candidates to present their piece of writing in a particular way because of the context, e.g. a blog
or email does not need to look like a blog or email. It is the content which is to be marked.

Higher Question 2
15 marks for Content + 12 marks for Range of Language + 5 marks for Accuracy (32 marks in total).

Candidates write approximately 150 words in total about two different bullet points. Both bullet points
must be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The question is marked for Content, for Range of Language and for Accuracy, according to the following
criteria:

Content

Marks | Response

An excellent response which is fully relevant and detailed, conveying a lot of
13-15 | information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

A very good response which is almost always relevant and which conveys a lot of
10-12 | information. Communication is mostly clear but there are a few ambiguities. Opinions
are expressed and justified.

A good response which is generally relevant with quite a lot of information conveyed.
7-9 Communication is usually clear but there are some ambiguities. Opinions are
expressed and may be justified.

A reasonable response with some relevant information conveyed. Communication is
4-6 sometimes clear but there may be instances where messages break down. An
opinion is expressed.

A basic response which conveys a limited amount of relevant information.
1-3 Communication may not be clear and there are instances where messages break
down. An opinion may be expressed.

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant must be ignored when awarding the mark for Content.

However, as the bullet points are much more open-ended, there is scope for candidates to include
information which is still relevant but not in direct response to a bullet point. For example, when
addressing a bullet point requiring a response about a memorable holiday, candidates may refer to
where they might go on a future holiday. Any information which cannot be deemed at all relevant must
be ignored when awarding the mark for Content.
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As with the overlap question, you must accept, as an accomplishment of the task, any plausible
response to a bullet point, even if an element such as time or place are missing.

e In order to score a mark of 13 or more for Content, both bullet points must be covered. However,
there is no requirement for an equal coverage of both bullet points.

¢ A candidate who conveys information in relation to one bullet point only can score a maximum of
12 marks for Content.

¢ Provided at least some coverage of both bullet points is evident, candidates will have access to
full marks where the other criteria are met.

¢ The bands refer to the amount of information that is conveyed, as follows:

13-15: alot

10-12: alot

7-9: quite a lot

4-6: some

1-3: a limited amount

All of these have to be considered with reference to the recommended number of words, which is
approximately 150. In other words, a candidate who writes approximately 150 words, clearly
understandable and relevant to both bullet points, will be able to achieve 15 marks provided the
other criteria are met. Conversely, a candidate may write much more than 150 words, but the
language is so inaccurate that only a limited amount of information is conveyed successfully. If a
candidate writes considerably fewer than 150 words, ‘a lot of information’ will not be conveyed.

e The candidate must give and justify opinions in order to have access to certain marks, as follows:

10-15: at least two opinions are expressed and justified
7-9: at least two opinions are expressed
4-6: at least one opinion is expressed

This is not an automatic mark and the other criteria within a particular band must be met. If there
is no opinion, the maximum mark is 3. An opinion may be expressed simply, for example: ‘I like
going shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an
opinion or a justification of an opinion. A neutral or descriptive adjective is only classed as an
opinion or a justification if it is preceded by something like ‘I think that’. For example: ‘I think that
my town is big’ (opinion); or a neutral adjective can be given as a justification of an opinion: ‘I like
my town because it is big’ (opinion + justification).

¢ Once the correct band has been decided upon, the middle mark in the band will be given to a
candidate whose writing fits the band well. If the band above was a consideration, then award
the higher of the three marks; if the band below was a consideration, then award the lower of the
three marks.
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Range

of language

Marks

Responses

10-12

Very good variety of appropriate vocabulary and structures. More complex sentences
are handled with confidence, producing a fluent piece of coherent writing. The style and
register are appropriate.

7-9

Good variety of appropriate vocabulary and structures. More complex sentences are
regularly attempted and are mostly successful, producing a mainly fluent piece of
coherent writing with occasional lapses. The style and register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences are attempted,
using appropriate linking words, often successfully. The style and register may not
always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short and simple.
Little or no awareness of style and register.

The range of language produced does not meet the standard required for a mark at this
tier.

The whole of the response must be assessed when awarding the mark for Range of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and

decide
results
Range
Range

on the mark for Range of language and for Accuracy. A mark of 0 for Content automatically

in a mark of O for Range of language but, apart from that, the Content mark does not limit the

of language mark. However, a short piece is unlikely to show sufficient variety for a high mark for
of language.

Each band has five strands: variety of vocabulary; variety of structures; complexity of sentences;
fluency of the writing; style and register. For a mark of 12, there will be good evidence that the
criteria for all five strands have been met comfortably. Sometimes it will be necessary to adopt a
‘best fit'" approach, because the five strands will not be consistently demonstrated. Once the
correct band has been decided upon, the middle mark in the band will be given to a candidate
whose writing fits the band well. If the band above was a consideration, then award the higher of
the three marks; if the band below was a consideration, then award the lower of the three marks.

There must be more complex sentences for the candidate to score 7 marks or more. For a mark
in the 10-12 band, the complex sentences are produced confidently, with few errors in structure;
for a mark in the 7-9 band, the attempts at complex sentences are mostly successful. Complex
sentences may be formed in some of the following ways across the languages: use of
subordinate clauses; use of relative clauses; use of infinitive constructions; the use of object
pronouns within a sentence to lend greater fluency. This should not be seen as a ‘tick list’, but
rather as an indication of the definition of complexity at GCSE level.

The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there
is no need to penalise the candidate merely for that. It may, however, be a contributory factor in
the award of the overall mark if there are other weaknesses.

There is no requirement for candidates to present their piece of writing in a particular way
because of the context, eg a blog or email does not need to look like a blog or email. It is the
content which is to be marked.
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Accuracy
Marks | Response
5 Accurate, although there may be a few errors especially in attempts at more complex
structures. Verbs and tense formations are secure.
4 Generally accurate. Some minor errors. Occasional major errors, usually in attempts at
more complex structures. Verbs and tense formations are nearly always correct.
3 Reasonably accurate. There are likely to be minor errors and there may be some major
errors, not only in complex structures. Verb and tense formations are usually correct.
2 More accurate than inaccurate. The intended meaning is generally clear. Verb and
tense formations are sometimes correct.
1 There may be major errors and frequent minor ones, and the intended meaning is not
always clear. There is only limited success with verb and tense formations.
0 The accuracy does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Accuracy, even if some of it is
irrelevant to the bullet points.

A mark

of 0 for Content automatically results in a mark of 0 for Accuracy but, apart from that, the Content

mark does not limit the Accuracy mark. However, a short piece is unlikely to show sufficient evidence for
a very high mark for Accuracy.

Higher

For the award of 5 marks, the writing need not be perfectly accurate. There may be errors in
attempts at more complex language and the occasional minor error, but these will be infrequent.
A minor error is one which has no bearing on communication (for example, incorrect gender),
whereas a major error is one where communication is affected.

For a piece of writing that contains a good number of errors, a useful starting point will be to
decide whether overall it is more accurate than inaccurate. If it is, then the minimum mark will
be 2.

A major consideration in awarding marks for accuracy is correctly formed verbs and tense
formations. All verbs and tense formations should be considered here but as there are only two
bullet points in this question, only two time frames will be elicited. While some candidates will
develop their ideas and, in so doing, use a third time frame and different tenses, there is not the
same requirement as there in in Foundation Question 4/Higher Question 1 to refer to all three
time frames.

Question 3

6 marks for Conveying key messages + 6 marks for Application of grammatical knowledge of language
and structures (12 marks in total).

Candidates translate into the target language a passage in English, totalling at least 50 words. The
translation is marked for Conveying key messages and for Application of grammatical knowledge of
language and structures, according to the following criteria:

10
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Conveying key messages

Marks | Response
6 All key messages are conveyed.
5 Nearly all key messages are conveyed.
4 Most key messages are conveyed.
3 Some key messages are conveyed.
2 Few key messages are conveyed.
1 Very few key messages are conveyed.
0 The content does not meet the standard

required for level 1 at this tier.

The translation is divided into 13 key messages. A tick will be awarded for each key message that is
communicated, despite any minor inaccuracies. The total number of ticks awarded equates to a mark

according to this table:

Total ticks Mark

13

6

11/12

8/9/10

5/6/7

3/4

1/2

=N [W|hs~ (o

When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a
native speaker understand the target language version without reference to the original English?’ If the

answer is ‘yes’, award a tick.

Application of grammatical knowledge of language and structures

Marks | Response
6 Excellent knowledge of vocabulary and structures; virtually faultless.
5 Very good knowledge of vocabulary and structures; highly accurate.
4 Good knowledge of vocabulary and structures; generally accurate.
3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.
2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 The language produced does not meet the standard required for Level 1 at this tier.

11
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Once you have decided on the mark for Conveying key messages, you should read through the
translation once more and decide on the mark for Application of grammatical knowledge of language and
structures.

This mark is not limited by the Conveying key messages mark, unless the mark for Conveying
key messages is 0, in which case the mark for Application of grammatical knowledge of language
and structures must also be 0.

There is no direct correlation between the two marks, but your first thought should be to see if the
same mark is appropriate. For example, a candidate may have been given 7 ticks and you have
awarded a mark of 4 for Conveying key messages. You may have had to hesitate when deciding
on one of the ticks but just decided against it. This may then encourage you to give a mark of 5,
rather than 4, for Application of grammatical knowledge of language and structures.

If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate
and award a mark accordingly. Not to do so will penalise unfairly those candidates who make an
attempt but commit serious errors in so doing.

Perfection is not required for full marks. For example, occasional missing accents and minor
spelling errors do not preclude a top band mark. However, if there are numerous minor errors
and incorrect use of accents which change the meaning of a word, this is likely to have an impact
on the mark for Application of grammatical knowledge of language and structures.

12
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Appendix 1

Notes on the use of language

The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands
of marks in the Quality of Language and Range of Language categories. They should not be seen as a
checkilist.

Variety of vocabulary

Consider particularly:

use of synonyms, (X738 SN ‘5% /4, 7 6T AN ‘Q@IGRIT (72 [PeqT I ‘CArEry #7 etc,
rather than (3%/ 99/& etc.

different persons of the verb.
use of more sophisticated vocabulary — though the emphasis is on avoiding a lot of conspicuous
repetition.

Variety of structures

Consider, for example:

use of infinitive constructions introduced by prepositions (¥7¢%, ¢37¢r)), adjectives (cﬂf? @W‘j“f/
STEF (), nouns (FIFIFT 25T (3 and after verbs (F1... (T 9=% 15, ... TGS/ TGIT
P 7% F17) and the modal verbs FT¥1Z/ ©5%, e, 5719)

use of object pronouns
use of disjunctive pronouns (©79 7%, ST &) etc.

use of indefinite pronouns/adjectives such as @77»’7%;5, @r@, T T etc.

use of connectives such as @{@“53’?7... wwﬁ..., GPCE... W"/ﬁm.., ©JRIGl, GORICFG etc.
use of adverbs and adverbial phrases such as 3 (I, (TeC, CHIRTIT, TN, O,
FOIT¥3 etc.

use of negatives (... /B8Z 7/ (P 7}/ FA! 7/ T3 T 73 T517)

use of ¥/ ¢ constructions and constructions such as Wﬁ%cﬂsﬂm..

use of comparative expressions (I (9 7, J©...©C 3ej/f7)

use of demonstrative adjectives and pronouns (¢ c?fﬁ, (977??; «G&zeT], I ?Wﬁc‘;_)

use of possessive pronouns (¥, HINT 2©7117)

use of superlative adjective (IS¢ ©ICeTl, FABE BT 207117)

use of complex sentences and a range of tenses

Use of complex/longer sentences

Consider:

use of subordinate clauses introduced by I3, (IR, FIF9, ©I2CeT, FF/AF, (WP etc.

use of relative clauses introduced by (<, 99, /9 P (AP, etc

use of the present subjunctive after verbs of wishing, command, request, emotion and after ¢
GrCa/ to express purpose

13
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and, when considering use of longer sentences:
e use of co-ordinating conjunctions: ©/2, ©1F73, ¥q, TO*F, [PE, PIErS |
Use of time frames/tenses

e The criteria for Quality of Language in Foundation Question 4/Higher Question 1 include
‘references to two/three time frames’. If a candidate refers to three time frames, it may well be
through different tenses, but equally it could be through the present tense:

FIA 0T GFNT NG HeTwT (TS T (TOT); T S 0T Her e g
(O19%7); S GG 2 JeoT GTNR (T/®) |

e The criteria for Accuracy in Higher Question 2 refer to ‘tense formations’. In this question, a
candidate can impress by showing that he/she can use a good range of tenses, thereby adding to
the range and complexity of language.

14
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Appendix 2

A glossary of terms used in the Writing assessment criteria

NB This alphabetical list corresponds to all questions on both Foundation and Higher papers.

ambiguity

A problem with immediate communication caused by grammatical
inaccuracy or a contradiction (eg ‘I love it because it's boring’).

appropriate

Language which is suitable for the requirements of the task.

coherent

Language which is easy to follow with a logical sequencing of ideas.
See ‘fluent’.

complex sentences

Sentences which contain a subordinate clause or clauses.
See Appendix 1 for examples.

complex structures

See Appendix 1 for examples.

confidence

Accurate use of language.

delay in communication

A problem with immediate communication caused by grammatical or
lexical inaccuracy.

fluent

Language which is easy to follow with a logical sequencing of ideas.
See ‘coherent’.

grammatical structures

Structures which are listed in the specification.

justified

The reason for holding a stated opinion.

key messages

With reference to the translation questions on both papers, these are
the key messages as identified in the mark scheme.

lapses

A problem with communication caused by grammatical inaccuracy

linking words

Words such as #/99, [%& used to create longer sentences.

Ionger sentences

These may be complex, with more difficult subordinations, or more
simple through the use of linking words such as ¥/99, 7%@: 97,

w12

major errors

Errors which impair communication.

minor errors

Errors which do not have a bearing on communication.

A positive/negative verb or adjective used to give an opinion; or a

opinions neutral adjective, such as ‘big’, preceded by something like ‘I think
that'. For example, ‘I think that my bedroom is very small'.

secure Accurate.

structures See ‘grammatical structures’.

style and register

The style of writing. Usually this will be determined by the nature of
the task, requiring informal or formal register.

The use of tenses, with or without time markers, which refer to past,
present or future events. A present tense may be a future or past time

time frames frame, eg ST RIoF 70 ST FSIEEnF A18% (future time frame); 773
A5 I=T 4CF 1T 97 (past time frame).
: Use of different verbs’ nouns and adjectives which avoid a lot of
variety

conspicuous repetition.
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Part 2 — Marking guidance for June 2019 series

Question 01

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

[16 marks]
Content
Level | Marks | Response

5 9-10 | A very good response covering all aspects of the task. Communication is clear
and a lot of information is conveyed. Opinions are expressed.

4 7-8 | A good response covering all aspects of the task. Communication is mostly
clear but perhaps with occasional lapses. Quite a lot of information is
conveyed. Opinions are expressed.

3 5-6 | A reasonable response covering almost all aspects of the task.
Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

2 3-4 | A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down. Little
information is conveyed. An opinion is expressed.

1 1-2 | Alimited response covering some aspects of the task. Communication is often
not clear and there may be frequent instances where messages break down.
Very little information is conveyed. There may be no opinions expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.
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Quality of language

Level | Marks | Response

3 5-6 | A variety of appropriate vocabulary is used. Complex structures and sentences
are attempted. There are references to three time frames, which are largely
successful. Errors are mainly minor. Some more serious errors may occur,
particularly in complex structures and sentences, but the intended meaning is
nearly always clear. The style and register are appropriate.

2 3-4 | Some variety of appropriate vocabulary is used. There may be some attempt
at complex structures and sentences. There are references to at least two
different time frames, although these may not always be successful. There
may be some major errors, and more frequent minor errors, but overall the
response is more accurate than inaccurate and the intended meaning is usually
clear. The style and register may not always be appropriate.

1 1-2 | The range of vocabulary may be narrow, repetitive and/or inappropriate to the
needs of the task. Sentences are mainly short and simple or may not be
properly constructed. There may be frequent major and minor errors. Little or
no awareness of style and register.

0 0 The language produced does not meet the standard required for Level 1 at this
tier.

Notes

@) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language.
Apart from that, the Content mark does not limit the mark for Quality of language.

General rule for this question:
¢ the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would
not, however, count as a reference to a present/past/future event (ie no annotation of Pr/ P / F).

Question 01.1 Content

Bullet Comments

T T & A ‘f[ﬁaT IR Accept indoor or outdoor facilities
T COINIT 2% 8 NAR(TT et Accept school subjects or teachers
PR SR @I T Gor @3 341 Accept description of journey or visits
o TS oV T 2C® I8 Accept a dream profession
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Question 01.2 Content

Bullet Comments

COIT forgr e Accept a hobby or interest

CSIE forr a3 Accept no reference to F1¥1 9g¢7 Tc¥if activities
could be undertaken with friends.

TS TS 2N FT (FIAT TAF Accept no reference to birthday if the information is a
plausible response.

R =R (SR I ﬁfgw Accept information about a future planning e.g. ¢¥e7/z

A=t (AR

The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either

or

Question
01.1

This is a possible response (indicative content):

S Fe10 Y T | WA FC Gg© QF/ea 4% GoPaeem Mo
VA =W | 0 [RAS GO (vemT W58 JRR 2 WR | F [T
SNE YT A=W | DI, SR JCRT FeY WA FH A | $eq Qi e
GCEF 177 | TR, &I¥E FETH A0 (I R SR ACICS S |

PRU ST FeT (ATE SN 767 /7% PICREN | TSR 20> (F7e5 SN
VT IR 8 (PO I NS F&7 AR | SYHCR AT 27 weaq &y s
BIFI'T 7% I=F QTP B9 (A Y 7 aArifeeT |

ST @G FE PG G GTITZCS 512 |

(92 words)
[16 marks]

Question
01.2

This is a possible response (indicative content):

TP AR N G A IFWF MY ([OICS (@CS AME YJ S Aot |
oI weifes 2w e s forr <5 nifsices)/ s1ifse s1eee Bieasn orece
RIEY

TR 32 OF (RBEER B} W todt «afs fofbe mrafeei |

S WA S @6 B T W (R | AR NS (PN
fAT-AET o T e TR | @ Fw enw ey wifve ey o
tof T | oI [fey sitg P e art @ 93 e wfefar
gl T (@0 FNE U@ | GTI Mo-9i1ta 497 AT |

(92 words)
[16 marks]
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Question 02

For this question there are two compulsory bullet points, which are assessed for Content (15 marks),
Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The
maximum mark is 32. The student is expected to produce approximately 150 words over the whole
guestion. The number of words is approximate and you must mark all work produced by the student.

[32 marks]
Content
Level | Marks | Response
5 13-15 | An excellent response which is fully relevant and detailed, conveying a lot of

information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

4 10-12 | A very good response which is almost always relevant and which conveys a lot
of information. Communication is mostly clear but there are a few ambiguities.
Opinions are expressed and justified.

3 7-9 | A good response which is generally relevant with quite a lot of information
conveyed. Communication is usually clear but there are some ambiguities.
Opinions are expressed and may be justified.

2 4-6 | A reasonable response with some relevant information conveyed.
Communication is sometimes clear but there may be instances where
messages break down. An opinion is expressed.

1 1-3 | A basic response which conveys a limited amount of relevant information.
Communication may not be clear and there are instances where messages
break down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at
least some coverage of both bullet points is evident, students will have access to full marks where the
other criteria are met.

19



MARK SCHEME — GCSE BENGALI - 8638/WH - JUNE 2019

Range of language

Level | Marks | Response
Very good variety of appropriate vocabulary and structures. More complex

4 10-12 . . : .
sentences are handled with confidence, producing a fluent piece of coherent
writing. The style and register are appropriate.

3 7.9 Good variety of appropriate vocabulary and structures. More complex
sentences are regularly attempted and are mostly successful, producing a
mainly fluent piece of coherent writing with occasional lapses. The style and
register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences are

2 4-6 . . S
attempted, using appropriate linking words, often successfully. The style and
register may not always be appropriate.

1 1-3 Little variety of appropriate vocabulary. Structures are likely to be short and
simple. Little or no awareness of style and register.

0 0 The range of language produced does not meet the standard required for Level
1 at this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from
that, the Content mark does not limit the mark for Range of language.

Accuracy
Level | Marks | Response

5 5 Accurate, although there may be a few errors especially in attempts at more
complex structures. Verbs and tense formations are secure.

4 4 Generally accurate. Some minor errors. Occasional major errors, usually in
attempts at more complex structures. Verbs and tense formations are nearly
always correct.

3 3 Reasonably accurate. There are likely to be minor errors and there may be
some major errors, not only in complex structures. Verb and tense formations
are usually correct.

2 2 More accurate than inaccurate. The intended meaning is generally clear. Verb
and tense formations are sometimes correct.

1 1 There may be major errors and frequent minor ones, and the intended meaning
is not always clear. There is only limited success with verb and tense
formations.

0 0 The accuracy does not meet the standard required for Level 1 at this tier.

Notes

(a) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from
that, the Content mark does not limit the mark for Accuracy.
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General rule for this question:

¢ the use of an infinitive in place of a finite verb is not acceptable for conveying a message nor as

a reference to a present/past/future event (ie no annotation of Pr/ P / F).

Question 02.1 Content

Bullet Comments

KSR SISIHIG TSNS Accept implication without direct reference to their
own problems.
Candidate can cover both bullet points.

FIgy SICAT A &y TS i A1 Al Accept developments relating to their own activities
they might undertake to improve health.

Question 02.2 Content

Bullet

Comments

COINE *12d AT TS Has to refer to the aspects relating to environment.

Accept 3rd person approach e.g. ... "/7?@")’55"7’
43

Candidate can cover both bullet points.

sAfqe qioite Sf{Tre §&f [T 7 F0e vre | Accept developments relating to future plans

whether it is their own or social activities.

The following indicative content is an example of the response that students may give to this question.

It demonstrates a balanced coverage of the compulsory bullet points.

Either | Question
02.1

This is a possible response (indicative content):

gy Ot AT Gy BT AR AT (@ TG (O C@eile IR_I
T FANE Y ATANSH | [T * AT 8 FoTeT (@ A ST FII @194 (A
RIT WS I | (&F1, SR SO S A 2F2 =
q, FIENS T A QG @, TRCAGA @ I @0 <& ATR |
IHIF (FC (FC YO AR T IICA GG ([ AR | ST Q3T ZCE (A9
G G FACS'S (T AT 27 |

Y ST AR &=y NN o e 403 Qiew [ifdg |- @I S F_Ees
IR AT FRIN I | AR f e [T @@ @ 97 97 MelR |
sigrel, AfifNe sfwe fow, g1 ¢ Fo1 oy fwa A ¢ Ty <2 |
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or

TIfY afeser FEfR, ToMT (6 AFET ST FFOR (6 AFE | TR,
O O7F TCA 0ed Sifeq il ARQeas Siamae i ATty
(TS 2T |

(151 words)
[32 marks]

Question
02.2

This is a possible response (indicative content):

TEE [{eed (@em *2rFe AR @ IeEEE 0 VR | S
*Z0AS AR 8 HT-gRel FWifR @ Fo AT 2 wifeware | afefie apg
EFE OItid FIA-JIET € HIFRT LTS @ *RCT S-S IE |
T, S ARTS IARS (A e (i s uive =z | iy,
G NgF A GFIYS IPCS A-&NFT e 210 7 | ey o1 77, 57
(T I R OI0HR | e, 0T SARAS (T e |

AR Tfed ooy wifv Sikace e s “ifiace Ar=er sifvaes 917
I PR ARCHE BT FICE AT | SN TA-SEA] IO (@RS Q-
DRI (FCS F AN CTSW) FINE SISO TSR T JITT TRHRe
FIoR Y FAQT | AR Aol efgyce oy g ag-997 Fw Siqe
YT W QT Wl N0 I TWMF IS @ [foy e Afvzger
S BIEr F41 @ AR FSNCA IO WX (T3 | SNF a7 N A
GO 2T G AT ACo© FC (I |

(151 words)
[32 marks]

Question 03
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9

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical
knowledge of language and structures (6 marks) as specified in the criteria below. The maximum
mark is 12. When awarding the marks, the student’s response across the passage should be
considered as a whole.

[12 marks]

Conveying key messages

Level | Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.

Application of grammatical knowledge of language and structures

Level | Marks | Response

6 6 Excellent knowledge of vocabulary and structures; virtually faultless.

5 5 Very good knowledge of vocabulary and structures; highly accurate.

4 4 Good knowledge of vocabulary and structures; generally accurate.

3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.

2 2 Limited knowledge of vocabulary and structures; generally inaccurate.

1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.

0 0 'I_'he language produced does not meet the standard required for Level 1 at this
tier.

Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.

Key messages
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1 | Last Sunday e AR

> It was my sister’s wedding .. oot IR G R

g | Weinvited SIS . WSS/ S SR |

4 Our Relatives and friends SN SSETE @ SERIEEIE]

5 | My brother in law lives in a city meﬁ A T G/ T
6 | Where there are lots of things ... P LHAR ST TR |
7 | To see and do (MYIF ST 8 FEF Joof

8 | Iliketo go if3... QTS Agw B |

9 | To the cinema there TS T

10 | And visit the museums 8 GYEd (NS

11 | Next weekend ST TSRS/ MRF Rore

12 | 1 will go to the library ... SIS RS/ LA AT |

13 | To do my homework N QNS AT FIS 19 G5

Other reasonable alternative translations will also be accepted.

A tick will be awarded for each key message that is communicated, despite any minor inaccuracies. The

total number of ticks awarded equates to a mark according to this table.

Total ticks

Mark

13 6

11/12

8/9/10

5/6/7

3/4

=N [W|h~ (o

1/2
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